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The car was broken — Mike tried to fix it.

The car — the one Mike tried to fix — was broken

G
‘ Carol needed some )€ peas — she went to the shop to get some. -
@ 1learnt how to ski today — I'm not very good 3¢ at it
6 It's Emily’s birthday — I need to get her )€ a present.

‘ Aisha-my brother's best friend-lives on our street.
@ The dog-a Chihuahua-didn't like Father Christmas.
® Ialy-a country in Europe-is famous for its pizza.
@ © My gandma-a lovely lady-is coming to visit

© The restaurant—the one with the new chef-is closed tonight

[0-11 Years English (Year 6)

When 1 go to New York, [ want to:
v Ridelnayellowtax, | .

o
o semlcolor, the kst e
houbd heve @ bl stop

+.Visit the Statue of Liberty, ...,

o make flapjacks, Sally uses butter, porridge
oats, soft brown sugar and golden syrup.

. .Goto Central Park, . ..

For extra practice, dictate your shopping
list to your child and ask them to write it

out using bullet points. Make sure they
punctuate the list consistently.

Mark buys 378.6 g of cereal. H

First, use multiplication 421
to work out how much X 6

htmu(nsixdnys; 2526
2526*'0-252.6

Tara has £19.66. She buys a cinema ticket
that costs £6.50 and a bag of sweets that
costs £1.28. How much money does she
have left?

A builder needs 113.28 m of wood to
build a fence. He has 25.67 m in his
van and 51.22 m in his garage.

How much more wood does he need?

Leanne spends £3.32 on a cake and
£1.96 on a drink. She has £7.18 left.
How much money did she have at the start?

Then subtract this
from the amount
that he buys.

10-11 Years Maths (Year 6)

e eats 42.1 g every dai
How much will he have left after six days? S
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Carly goes for a 17.3 mile walk.
She walks at 3.8 miles per hour
How far will she have left to
walk after 4 hours?

Harriet has 2 brothers and one
sister. She spends £9.42 on
presents for each brother and
£11.85 on a present for her
sister. How much does she spend
in total, to the nearest pound?

Mohammed spends £7.08 on
6 cans of lemonade.  How much
does each can of kemonade cost?

Andy drives for six howrs at 382
miles per hour. Ned drives for
four hours at 50,6 miles

per hour. Who drives further?

Gary is given £10.60. He keeps
£1.12 and then divides the rest

Nicole s 125.7 om tall.
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